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Matching Graphs

Name:

Deter mine which graph goes with which table. Answers
1 | color People 2) | color People
blue 5,000 blue 5,000 1.
green 3,000 green 3,000
orange 10,000 orange 1,000 5
yellow 1,000 yellow 10,000 '
red 4,000 red 4,000
3.
3) | color People 4) | color People
blue 3,000 blue 1,000 4
green 10,000 green 3,000 '
orange 5,000 orange 10,000
yellow 1,000 yellow 5,000 5
red 4,000 red 4,000
5 | color People 6) | color People °
blue 5,000 blue 5,000
green 1,000 green 4,000
orange 10,000 orange 3,000
yellow 3,000 yellow 10,000
red 4,000 red 1,000
[ o
A. 10,000 | — B. 10,000 — c 10000,
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
2,000 Hﬂ 2,000 ﬂ H 2,000 ﬂ
0 1 0 1 0 [ 1
9 G O Lo % 9 G O Lo % 9 G O Lo %
% S, ¥ N N A % P, %078,
o S, %% /% o S, %% /% o S, %% /%
D. 10,000 — E. 10,000 — F 10,000 —
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
=0l =l Hal
0 [ 1 0 1 0 [ 1
G D U Sy, % G D U Sy, % G D U Sy, %
% A% % A% % Y
G 10000; H_ 10,000 — | 10,000 —
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
2,000 H ’_‘ 2,000 ’_‘ 2,000 ﬂ H
0 [ 1 0 [ 1 o L
G D O Ly, % G D O Ly, % G D O Ly, %
% % % L7 4 % L7 4
(S %) %‘98 o@ (\J %) %‘98 o@ (\J QS) %‘98 o@
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C:# Matching Graphs Name: Answer Key

Deter mine which graph goes with which table. Answers
1 | color People 2) | color People
blue 5,000 blue 5,000 1 F
green 3,000 green 3,000
orange 10,000 orange 1,000 5 D
yellow 1,000 yellow 10,000 '
red 4,000 red 4,000
3 C
3) | color People 4) | color People
blue 3,000 blue 1,000 4 B
green 10,000 green 3,000 '
orange 5,000 orange 10,000 H
yellow 1,000 yellow 5,000 5
red 4,000 red 4,000 E
5 | color People 6) | color People °
blue 5,000 blue 5,000
green 1,000 green 4,000
orange 10,000 orange 3,000
yellow 3,000 yellow 10,000
red 4,000 red 1,000
[ o
A, 10,000 — B. 10,000 — c 10000;
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
2,000 Hﬂ 2,000 ﬂ H 2,000 ﬂ
0 1 o 0 [ 1
9 G O Lo % 9 G O Lo % 9 G O Lo %
% Y, & %R 9, Y Y %R 9, Y Y
o S, %% a, o S, %% a, o S, %% a,
D. 10,000 — E_ 10,000 — £ 10,000 —
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
=00l =il -=<HeC-
0 [ 1 0 1 0 [ 1
G D U Sy, % G D U Sy, % G D U Sy, %
% A% % A% % Y
(Y %) %9@ O@ (Y %) %9@ O@ (4 %) 9@ O@
G. 10000 H_ 10,000 — | 10,000 —
8,000 8,000 8,000
6,000 6,000 6,000
4,000 4,000 4,000
2,000 H ’_‘ 2,000 ’_‘ 2,000 ﬂ H
0 [ 1 0 [ 1 o L
G 9, % Ly, % G 9, % Ly, % G 9, % Ly, %
% % % L7 4 % L7 4
( %) %‘98 o@ ( %) %‘98 o@ ( QS) %‘98 o@
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